Name ____________________________________
M1L9 HW P2
Solve:  All answers should be in scientific notation.
The population of the United States is 325 million people.  The population of Mexico is 1.27 x 108.  What is the combined population?  Express your answer in scientific notation.



The population of Canada is 3.52 x 107.  What is the difference between the Canadian Population and the US population?




The population of Great Britain is about 66,650,000 people.  What is the combined population of Great Britain and Canada?




The world’s most populous country is China with 1.42 x 109 people.  The population of Iceland is approximately 340,000 people.  How many more people live in China?
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